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Avec	
  :	
  	
  

-­‐ Q	
  :	
  Débit	
  de	
  la	
  pompe	
  en	
  L/min	
  
-­‐ Cyl	
  :	
  Volume	
  cylindrique	
  en	
  L	
  	
  
-­‐ Ng	
  :	
  Nombre	
  de	
  galets	
  
-­‐ α	
  :	
  Angle	
  entre	
  B	
  et	
  C	
  (en	
  °)	
  
-­‐ β	
  :	
  Angle	
  entre	
  A	
  et	
  B	
  et	
  entre	
  C	
  et	
  D	
  (en	
  °)	
  
-­‐ d	
  :	
  Diamètre	
  du	
  tube	
  (en	
  m)	
  
-­‐ r	
  :	
  Rayon	
  du	
  cercle	
  de	
  centre	
  O	
  (en	
  m)	
  
-­‐ ω	
  :	
  Vitesse	
  de	
  l’axe	
  (en	
  tr/min)	
  

	
  


